Which car uses energy in a better way? Ustaz
Why? Which car produces more exhaust?
Which one is more efficient?

Gasoline=1000J Gasoline=1000J
Work=150J Work=400J







Goal:

= Onwucars NpeoOpa3oBaHME SHEPTUH B
TEIJIOBBIX MAallIMHAX;

= Onucarb OPUHIAI PA0OTHI TEIIOBBIX
MAalllUH;

~ Onpeneanth KO3(Q@UIMEHT MOJIC3HOTO
JICUCTBUSI.



Group work :

|- rpynma: YUTo Takoe TEeNIOBbIE IBUTATEIIN !

2- rpynna: ®opmyna KIIJ1 gyepes padoty u
KOJIMYE€CTBO TEILIOTHI?

3- rpymmna: popmyna KII/] gyepes remneparypy?

4- rpymnra: Ha30BUTE OCHOBHBIC YaCTH TEILIOBOTO
JIBUTATEIIA U UX HAa3HAYEHHUE?

[Time : 5 minutes ]




New words:

> TCIIJIOBBIC MAIIINHEI,

|

pabouee Telo;

~ HarpeBaTeib;

= XOJOAWUJIbHUK;

|

KIIJI.

In English?



New words:

1) efficiency coefficient -KINA( koaddouumueHT
NOAE€3HOro AeUCTBMUSA)

2) Heat engine - TenAoBasa malluuHA

) Working medium- Pabo4ee Teao
) Heater- HarpesaTteab
5) Refrigerator - XoAOAUABHUK
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IIposepka 3a0anuu

3aAaHUME Nol
C,2)E 3] A
3aAQHUENDS?

A

3aAaHMENS3

TenAOBblE ABUTATEAUN- YCTPOMCTBA, KOTOPbLIE
NPeobPA3YIOT BHYTPEHHIOK 3HEPTMIO TOMAMBA B
MEXAHNYECKYIO PABOTY.



Peghnexcusn
Hanvuuku



Homework:

~ 1) BelyunTh HOBBIC TEPMUHBI;
= 2) npouurarh naparpad cl6;

= 3) OpeaioKUTh CBOU UJICH 110
YCOBEPIICHCTBOBAHUIO TEIJIOBBIX MAIIIMH U UX

KIIJI.

Remember and
write It down!




Thank you for attention!



